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No BRES B Z{E (mg/1) A & FEKE EEKE & &
111, 3—YsmpA7Aa~x> (D—D) 0.05 HRF <0.0005 <0.0005
2|2, 2—DPA (X7%Y) 0.08 BREFH <0.0008 <0.0008
3|2, 4—D (2, 4—PA) 0.02 FREFHI <0.0002 <0.0002
4|EPN 0.004 HRF <0.00005 <0.00005
5|[MCP A 0.005 FREFH] <0.0001 <0.0001
6|77 L 0.9 BRELHI <0.009 <0.009
N7e7x—+ 0.006 HRF <0.00006 <0.00006
8|7 bV 0.01 BRELHI <0.0001 <0.0001
9|7 =mHK R 0.003 FREFHI <0.00003 <0.00003
w|7I+7x 0.006 pdect] <0.00006 <0.00006
n|rssn—n 0.03 FREFHI <0.0003 <0.0003
121V FYyFHr 0.005 HRF <0.00005 <0.00005
K] B P 0.001 BEF <0.00003 <0.00003
14|14 7ahL7 (MIPC) 0.01 Faf <0.0001 <0.0001
5|4y 7aF+5> (1PT) 0.3 HRF <0.003 <0.003
16|14 77> hiny v 0.002 FREH <0.00002 <0.00002
17|14 7a~vk=z (1 BP) 0.09 BEF <0.0009 <0.0009
wl1x/082vy 0.006 HEF <0.00006 <0.00006
9|18/ 77> 0.009 FREFH] <0.0002 <0.0002
20|zx7aALT 0.03 BRELHI <0.0003 <0.0003
€0 b7zvy7AY IR 0.08 HRF <0.0008 <0.0008
2Ty FRLT7 7Yy (Ryy/TEY) 0.01 HRF <0.0001 <0.0001
WB|AFHT oA XK 0.02 FREFH] <0.0002 <0.0002
24| A F 2 80 CAHR) 0.03 HEF <0.0003 <0.0003
25|A VYR ALY 0.1 BEF <0.001 <0.001
26| H XY R 0.0006 HaH <0.000006 <0.000006
27|h 72 br—L 0.008 FREFHI <0.00008 <0.00008
28|hgy T 0.08 Haf <0.0008 <0.0008
29| UL (NAC) 0.02 HRF <0.0002 <0.0002
30|HRT7 TV 0.0003 KBy <0.000003 <0.000003
31|¥/273> (ACN) 0.005 FREFH] <0.00005 <0.00005
R2|FrTar 0.3 HBEF <0.003 <0.003
k] A= 0.03 FREFHI <0.0003 <0.0003
34| 7Ry — b 2 BRELHI <0.02 <0.02
35| 7Ry R — b 0.02 FREFHI <0.0002 <0.0002
36|lvnxTRny 7 0.02 BREFH <0.0002 <0.0002
37\7Ar=ta7z> (CNP) 0.0001 FREFHI <0.0001 <0.0001
38|/ ALE YRR 0.003 HRF <0.00005 <0.00005
397 xa=, (TPN) 0.05 BEF <0.0005 <0.0005
Wwl>TFY 0.001 BREFH <0.00001 <0.00001
a1|>7/kx (CYAP) 0.003 HaF <0.00003 <0.00003
a2(¥vm> (DCMU) 0.02 BRELHI <0.0002 <0.0002
43| sn~r=) (DBN) 0.03 FREFHI <0.0003 <0.0003
44|/ BLRX (DDVP) 0.008 HRF <0.00008 <0.00008
45257y b 0.01 FREFHI <0.0001 <0.0001
46| RIVFE LY (ZFLFFAXLY) 0.004 HRF <0.00004 <0.00004
47| FFANN A — R 0.005 FRRF <0.00005 <0.00005
| FAEIL 0.009 BRELHI <0.00009 <0.00009
9| nmky 77T 0.006 FREFH] <0.00006 <0.00006
s50[>~¥> (CAT) 0.003 BRELHI <0.00003 <0.00003
[ B 0.02 FREFHI <0.0002 <0.0002
52|V A T — 0.05 HRF <0.0005 <0.0005
53> % kU > 0.03 FREFHI <0.0003 <0.0003
54\ ZATY ) v 0.003 HRF <0.00003 <0.00003
[ EEPN=p4 0.8 FREFHI <0.008 <0.008
56|4 U Ay b AGL(h=1" L) R OAFIAYFAYT A= 0.01 BER <0.0001 <0.0001
51| FT7¥= 0.1 BEAF <0.001 <0.001
58|F V7 L 0.02 HBEF <0.0002 <0.0002
S| F AT AhNT 0.08 HRF <0.0008 <0.0008
60|FH 77— b XFIL 0.3 HBEF <0.003 <0.003
61| FARYHhLT 0.02 FREFHI <0.0002 <0.0002
62|77V kY F 0.002 IREHF <0.00002 <0.00002
63|77 HL7 (MBPMC) 0.02 FREFHI <0.0002 <0.0002
64| UL 0.006 BRELHI <0.00006 <0.00006
65|~ ALKy (DEP) 0.005 HRF <0.00005 <0.00005
66| FU V- 0.1 HBEF <0.001 <0.001
67| U TLTY ¥ 0.06 FREFHI <0.0006 <0.0006
68|+ 7 m/XI K 0.03 BRELHI <0.0003 <0.0003
69)/¥7a— 0.01 FREFH] <0.0001 <0.0001
ojERARR 0.0009 BRELHI <0.000009 <0.000009
njgzsn=u 0.01 FREFHI <0.0001 <0.0001
nlesyEr oy 0.004 IREH <0.00004 <0.00004
BV UR—F (EFYL—F) 0.02 FREFH] <0.0002 <0.0002
eV E Tz vFF 0.002 HRF <0.00002 <0.00002
5|V TFALT 0.02 FREFHI <0.0002 <0.0002
76|lenFnoy 0.05 HBEF <0.0005 <0.0005
77|71 7BR=1 0.0005 HaF <0.000005 <0.000005
18|7z=taFA+> (MEP) 0.01 HRF <0.0001 <0.0001
9|7/ 7HL7 (BPMC) 0.03 HRF <0.0003 <0.0003
80| 7LV 0.05 BER <0.0005 <0.0005
8|7z F4> (MPP) 0.006 HaF <0.00006 <0.00006
827z bx—F (PAP) 0.007 HRF <0.00007 <0.00007
8|7z bIHIF 0.01 FREFH] <0.0001 <0.0001
84| 7Y 74 F 0.1 HEF <0.001 <0.001
85| 75— 0.03 FREFH] <0.0003 <0.0003
86| 7% IR R 0.02 BRELHI <0.0002 <0.0002
-Vl A= 0.02 HRF <0.0002 <0.0002
88| 7 LTV F L 0.03 BER <0.0003 <0.0003
89|7LFIrA— 0.05 FREFHI <0.0005 <0.0005
1 B 0.09 BEF <0.0009 <0.0009
9|7 R F AKX 0.007 HaF <0.00007 <0.00007
e2|7arary—i 0.05 HBEF <0.0005 <0.0005
g|7AEY IR 0.05 FREFH] <0.0005 <0.0005
a|7a~RF - 0.03 HBEF <0.0003 <0.0003
95| 7RETF R 0.1 FREFH] <0.001 <0.001
96~/ I 0.02 HBEF <0.0002 <0.0002
LY B =0% 0.1 BEF <0.001 <0.001
9gl~>rvEeysny 0.09 IREH <0.0009 <0.0009
L] AT 0.005 FREFH] <0.00005 <0.00005
100| R & v 0.2 BRELHI <0.002 <0.002
101 Ry T4 X2 > 0.3 FREFH] <0.003 <0.003
102|R> 75 HLT 0.02 FEF <0.0002 <0.0002
103| R 77y (RZRAYY) 0.01 FREHI <0.0001 <0.0001
104|R>7LE—+ 0.07 IREH <0.0007 <0.0007
105| "R F7H— b 0.005 HaF <0.00005 <0.00005
106|~7FF> (x7V>) 0.7 HRF <0.007 <0.007
107|#a7ay 7 (MCPP) 0.05 FREFH] <0.0005 <0.0005
108| XV b 0.03 HRF <0.0003 <0.0003
109| X &7 F L 0.2 BEAF <0.002 <0.002
1MO|XFXFA> (DMTP) 0.004 HRF <0.00004 <0.00004
M|xrI/2kAEY 0.04 HaF <0.0004 <0.0004
12X rU7o> 0.03 IREH <0.0003 <0.0003
M3| ¥ 7+t b 0.02 FREFH] <0.0002 <0.0002
14| x 7= 0.1 HBEF <0.001 <0.001
15| E U 32— b 0.005 FREFH] <0.00005 <0.00005
EEE S G 1 0.00 0.00




